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% How Did the Doe Win the Big Animal Race?=

Solve each problem below. Cross out the box that contains your answer. When you finish,
write the letters from the remaining boxes in the squares at the bottom of the page.

Mr. Merrill has 3 times as many nickels as e

dimes. The coins have a fotaf value of $1.50. A

How many of each coin does he have? ! ¢ nickels, ¢ - dimes” .-
@ Ms. Lynch has 21 coins in nickels and dimes. »it 7z 21 ’CE

Their total vafue is $1.65. How many of each oy v gy = 1% l nickels, |/ dimé B

coin does she have?

A vending machine that takes only dimes and D+ &= %o
quarters contains 30 coins, with a total value of jyu ¢ 25@- 20 g 1 >
$4.20. How many of each coin are there? 77 dimes, (E) quaﬁe(tss

(4) The total vaiue of the $1 bills and $5 bills In a
cash box is $124. There are 8 more $5 bills than : - [\I)
$1 bills. How many of each are there? iy $1bills, 27 95 bi"(ﬁ-x

@ A collection of nickels and quarters amounis fo 54 + 257 =260 e
$2.60. There are 16 coins in all. How many of ;.4 =14 e @)
each coin are there? 7] nickels, quaﬁer& 4

@ Joe Lick bought gome 20-cent and 25-cent

stamps. He bought 32 stamps in all, and paid ' - wj
$7.40 for them. How many stamps of each kind /7 20-cent, 7o 25-08:( T4

did he buy?

il @ For a school play, 340 tickels valued at $810

were sold. Some cost $2 and some cost $3. 7
How many tickets of each kind were sold? 216 $2 tickets, {3 93 ﬁckelégﬁ

Romeo bought a mixture of 20-cent, 35-cent,
and 50-cent valentines. The number of 20-cent

valentines was 1 more than twice the number of _ 9 20-cent, - f ?)
35-cent valentines, and the number of 50-cent 35-centy
valentines was 2 less than the number of A

38-cent ones. If he spent $4.20 all together, 7/  50-cent

how many valentines of each kind did he buy?

AS
240, 100




